| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
lE Entries 0 lE T Entries 0
E Mean 0 E : Mean 0
r Std Dev 0 r N Std Dev 0
_ H | _ . H |
10 1 E missing_inner_layers 10 1 i P = missing_outer Tayers
E Entries 0 E Entries 0
r Mean 0 r : Mean 0
10,2 L Std Dev. 0 10,2 Lt ____________ Std Dev. (i
E missing;innerilayers E missingiouterilayers
[ Entries 0 [ Entries 0
-3 Mean 0 Bl e .. | Mean 0
10 Std Dev 0 10 : Std Dev 0
E : [ F : I
o missing_inner_layers o . . . missing_outer_layers
—4 L Entries 0 o e eeeeaaaa ... Entries 0
10 E Mean 0 10 E H H . | Mean 0
r Std Dev 0 o Std Dev 0
C j T L : I
10—5 L missing_inner_layers 10—5 e s s + - [Tmissing_outer_Tayers
E Entries 0 E Entries 0
F Mean 0 F Mean 0
I Std Dev I Std Dev
— DOV VOO0 RO0000000 T —Gioba—mRETIO000—RECO
— B M:VVI)O 300000000%_Gg g_m EI %OOOKfrliRnIEgO RE
[Cmean nif —— BoVVoa0i-Radenaonat—alona—keiooaCtime —RECS
s DOM”V0001"R000000001—Global—mkFit1000MTime _RE
jeny 5 - . . . N N T T T T ™| Entries 0
0 E . . . . . . . . : : | Mean 0
> A5F------ A e P . . . . . | Std Dev 0
A . . . . . . . . . H H |
2 4 hits
c Entries 0
\ Mean 0
Std Dev 0
0 : T
hits
Entries 0
Mean 0
Std Dev 0
: 1
hits
Entries 0
lean 0
Std Dev 0
: I
hits
Entries 0
Mean 0
Std Dev 0
M A A
3] B -
3 IS
@ @
0 : : : : : - oL : : : : ; : :
=3 -2 -1 0 1 2 3 0 10 20 30 40 50 60 70 80
track n track hits
[ N of simulated tracks vs pT | [Nofreco track vs pT |
num_simul_pT 1 num_reco_pT
- - Entries 143227 107°E - Entries 6
lo—l e pdeeeeaaaaan [ Mean 2.096 = : Mean 0
. Std Dev 5.929 F : Std Dev 0
H | o . H |
num_simul_pT o [ .- ______ num_reco_pT
ol ey Entries 143227 10 E : Entries 6
107°E : : Mean 2.096 E : Mean 0
o . . Std Dev 5.929 r Std Dev 0
r : : : I i : : : I
3 i . . num_simul_pT 10‘3 R e PEEEE num_reco_pT
10 P i e tries 143227 E . . Entries 6
E : : Me: 2.096 = Mean 0
C Std Cev 5.929 L Std Dev 0
: ; ; [ - [
. . -4
-4 ... Veemeaeananan e nup_simul_pT 10 E num_reco_pT
10 .E : : Entries 143227 F Entries 6
F . . Mean 2.096 C Mean 0
| Std Dev 5.929 = Std Dev 0
: I ] N S SR R ]
E num_simul_pT 10 E : H num_reco_pT
F Entries 143227 F Entries 6
B Mean 2.096 N Mean 0
. 3 Std Dev 5.92¢ 6 B i i Std Dev 0
= 111 ] 11 1 1 1L — 1
0109} ! ! O = e =T T
= L | ‘ - : : :
& ‘“111111111111111|||||| _____
;_”TTTTTTTTTTTT]'”'”||||” :
0.95L i ’ : i
10" 1 10 10 10° 10 10°
TP p track p
T T



	Contents
	Page 1


